2 3B

8. Given a 2.00 L saturated solution of Cu(l03);, K, = 1.4 x 10”7, how many moles of NalO; would need to be

dissolved in solution to reduce [Cu2+] t0 6.0 x 107 M? (Assume the added NalO; does not appreciably change the
total volume of solution.)

2 2 -_72
KSP"LCM?J—]EIOSFJ :(CJ.OE-‘S\T’IOEJ = L9e-3
=7 = |’L“E’q— = L = P
[T0 1= m =008 M TO, x ZooL = 0.097 mol j:oz_

0.04F my[ TO- I
kTN, Il TS T o mof NaT G,
| mo[ T %ﬂ

Even more practice!

9. Copper(l) bromide has a measured solubility of 2.0 x 1074 mol/Lat 25°C. Calculate its K, value.

KSF = [CutILR] =% = (2.09-4\2 =lﬁ£ﬁ3:ﬁ_

10. The K, value for copper(ll) iodate, Cu{lis 1.4x107" at 25°C. What is the maximum mass, in grams, of
copper (Il) iodate that can dissolve in 500. mL of water?

Ke, = LCu “ULIajux(’ZM Hy® =14 ¢g-7
3 -3 . . . o 3.3%
b = _I_H_Eﬁ = (= éf}l E-ZM % O. SO = f_(f_g‘.;, E~2 Mgl (:'L‘,(]:O_?) 5 Hi F
H o~ $72 IMO!

e

"D(O Cu(]’,(\‘,\

R =

11. In pure water at 25°C, the molar solubility of PbCl, is 1.3 x 10"%and the Kep is 1.6 x 10™. LiCl is added to 5.00
L of a saturated solution of PbCl, at 25°C until the [Pb2+} is reduced to 4.5 x 10™* M. How many moles of

chloride ions are dissolved in solution at the point when [Pb2+] =45x107 M? (Assume the added GafNGs),
has a negligible effect on the total volume of solution.) Ll

K. =P -7 = (4se-q)L -3 = LLE-S

LE(* T2 w\) Heeona =019MCVx 500 * 094 mol C‘li
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Multiple Choice Practice!

Use the following information to answer questions 12-14.

150 mL of saturated SrF; solution is present in a 250 mL beaker at room temperature. The molar solubility of SrF, at 298
Kis 1.0x 1073 M. ¥ -
' S¢ F'z, 2 Oy o, F
: t trati f Sr2* and F~ in the beaker?
12, What are the concentrations of Sr=" and F~ in the beaker + ¥ + ¥
a. [Sr**1=1.0x107FM; [F1=10x103 M

512 = 1.0 10 M; [F]= 2.0x 103 M [Se?* ) =x=lg-3

c. [Sr*]=2.0x10°M;[F]=10x1032M [ -
Pl =2x=2E-3
d. [Sr**]=2.0x10°M; [F]=2.0x107°M

13. What would be the effect on [Sr?*] if some NaF(s) was added to the beaker?
a. [Sr*] would remain unchanged; neither ion in NaF(s) is common to 5>

b. [Sr¥*] would increase; more Sr2* ions would be needed to balance the additional F~ ions to re-establish
equilibrium,

[Sr**] would decrease; the additional fluoride ions would cause the system to shift left to re-establish
equilibrium,

d. [Sr¥*] would decrease; the additional Na* would cause an excess of positive charge, and the system
would shift left to reduce overall positive charge.

14. Calculate the solubility product for SrF; at 25°C. 2y -
. 2x10°® (/ 4% 107 = LSy LE)
" 2x D » K 1

b. 2x10° 4x 1076 v 2

=X (2x) =4y
?

":f""\(\t:":'ﬁ

=4g -9



